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Did you come to testify — IN°NR YTITORY

OVERVIEW
The X3 explains that in order to verify the intent of the 09097 0°7¥, we ask them
whether they came to testify (in which case the entire M7V is %v2), or whether they
just came to see, but not to testify (in which case the testimony of the 2 w> 27V is
valid). moon takes exception with this interpretation' and offers an alternate
interpretation.

nooIn asks:
= 21NN SHNORY *19N9 N2 021711 BYY DTN IINP NY 19 ONT AP

There is a difficulty with this interpretation,® for if indeed this is so (that we ask the
0°9109:7 0>7v what their intent was) no person will ever be executed by 7", for the
relatives of the accused will come to 7"°2 and claim, we have come to testify —

mooin offers an alternate explanation:
= INNN PYIVAN DY INNDND DIV DITYY 13999RT 1N DN 19929 YD)

And 3775 217 129 explained that 7"2 asks the 2 w> 2°7v, ‘did you come to

testify together with the 299192 (in which case the M7y is invalid) -
- SPYYDan NY2 IPNN THNY IN

Or did you come to see without the P08’ -
- SnY0a mm’ 1 RY IN DY9DON NY2 1NN S1N1Y B39WIN Y9N IN)

And if the 2 w> o7V say, ‘we came to observe without the 2v%105°, then their

M7y is not disqualified -
— D109 IN 2999 1912 THN NN ON 199N

Even if one of the entire group of 0>7v was found to be a %105 X 217 -
- 71903 11 91 1P9IDSN BY 1NN m‘wxb 1N SN YN

However, if the 0 w> 0°7v said, ‘we came to testify with the 7"102°, their M7y
is invalid.

MooIN asks:

' This seems to be the interpretation of *>*7 7"72 >"w".
2 moon previously (*2°7 71" 72) stated that by nw1 *37 we do not question the 27y (whether or not they are coming to
testify), because if they did not warn him, it is assumed that they are not coming to testify; nonetheless, we are
concerned that the 0°217p will say, ‘we warned him (and are coming to testify)’. See X"w7mn.
? This will disqualify the entire M7y since they are 2217 and are coming to testify.
* See ‘Overview’.
> We ask the 0w 07y who are testifying in 7"°2, ‘when you observed the crime, did you intend to testify later in
7" (together with these other 0>7v who turned out to be 0°7109), or did you just come to observe, but (at that time)
you did not intend to testify’.
% This is so, even if the 27109 did intend to testify, as long as the 27w> merely came to observe. See w191 T
Tmonn # 245.
7 This is true even if the 7100 did not intend to testify (ibid). See “Thinking it over’.
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= 12NN YTINONRY 919D DINN) DY DITYN D) 1PN IRIN NXP NN DIPN Y1)
But nonetheless, it is somewhat astonishing; for how can the 2> w> 237 be

believed to say to the 7"°2 after they already tes‘ufled that ‘we came to testify’ -
=Y1P¥N 529V Y22 545311 91N 1Y NN MY HVaY 319

In order to void the m7y, for it is like ‘recanting and testifying’, since they
already testified!

Mo0IN answers: 9
- PYOY 0X9YON DY )T N°2Y PNIT 11937 "NI2DT 90 UM

And one can say; that it is logical (that the 27w> intended to testify with the

0°9109), for since the 0°7105 are now coming to 7''72 together with the 2>w> -
HIN9NN Y 1990 N1 INN XD FNNIONY 19919 HnnnY o970 Pxa.

The matter is apparent, that initially they all came to (observe in order to)

testify, for the end (that they are all testifying in 7"°2) proved the beginning (that
they all observed in order to testify).

SUMMARY

The question of IN°NX *TAA? W INNX >TITOR? is posed to the o w>a 07w (not the
0°7109) and they are believed to say 13°nX 770K, for the logic supports them since
all (the 07w> and the 2°7109) came to testify

THINKING IT OVER
What would be the ruling (according to 372 017 11°27) if both the 2°7w> 27y and the
o200 o7y did not initially intend to testify, is the w2 M7y or Yv2?""

¥ The rule is that once 07y testify in 7"°2 they cannot recant their testimony. This is referred to as WX 1w 737w 17
7321 711 (once he testified, he cannot recant and testify differently). Here too the 0°7¥ initially testified that a capital
crime was committed, for which there is a death penalty. Now they are saying that they intended to testify (with the
0°709), which voids their testimony, it is similar to 7°x ann.
? The n"37 M7 amends this to read 1127 R17 X207 (instead of 11°2 R1207).
1% We do not rely (only) on the testimony of the 2™ w> that 1’nX >T70K?, but rather logic dictates and supports their
claim, therefore it is not considered 7 71n. However if the 0 w> 0°7v say they merely came to observe, we
certainly believe them, and their initial testimony is upheld. That is why 7"°2 questions them.
' See TN waon I # 248-9.
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